Test # 2 Spring 2006  Name_______________________________________

1. Write out the contrast that defines the AB interaction in a full 23 factorial experiment.

2. A 24-1 fractional factorial experiment is to be run.  Let D=+AC be the design generator .  Which 8 treatment combinations are to be run? Ignoring all terms beyond 2FIs, what effects are confounded with what other effects?  What is the resolution of this design?
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3. The values at the corners of the cube (above) are response measurements for a single run at each combination of a full 23 factorial experiment. Find the “sum of squares” for factor A, SSA.  Find the estimated  effect size for the A.

4. The following is related to exercise 6-1.
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5. A 3x4 factorial is run with 2 observations per cell (16 obs. in total).  We will assume for simplicity that 2 = 1.  For the factor that has 3 levels we want to be able to reject Ho if the largest difference between  any two levels is 2.  Using the least favorable configuration of means find the value of 2 required for power calculations.

6. An unreplicated 23 experiment is to be run in two blocks of size 4.  Suppose that we decide to confound the block effect with the BC interaction.  List all 8 of the treatment combinations and the block in which they are to be run.

